[O50 /%GW@ 1 Kkey
l. Lor Po/yﬂomré/ or 7uadm1tfc Lorm equcz/w;, stont by ge%ﬁg £8

(—8P+3)2: ~0(-3p+3) =3 U+7 Xu+3 )=0
riogp3) 431 L) 43 U==7 ==-3
(= S’P‘f'?:+), =0 | Now hackso bs i te U=-FL+3
Letca=(C9p+3) J LA L L
CL +I0U +2( =0 —_gp:_.z(_) ﬁ_:-—_é
-8 -2 -3

- ’flmj Fuqcﬁofk S Wladeu o{- Q[Né’(?j T he X - UQ/CPS
of tle leff plece are L 2X20 (& beracse ofthe
liy 50{4) ’ﬂ’lr_’_ X- uaﬂ/ﬁ; o-p the /\(5 b P/&e Gre X >O (‘ro//mu)

We P\C'IL p/eoe [y [/nea/\ witv /—m/[f'racp‘f b= 4, S/Oﬁsm %h
The /*/5‘41’ p/z"ce s the tcleml}%y £oac bion y=& so

-‘lx+'—1 , ~3EKLD | Left
/‘{"ﬁ) , x70 | Rebt
5. £ = (W D= (x7) = W-F —3Xt7 “@z

4. A= Sra :>J;T:{);—T H A= J—/‘EE'

'371'

5. IHGOyowc\s 15 /Oc?/‘fmc";é/“ O 9\X+}L/ —-/17’00

A= X/V\\ h

Q.\/—/_LL__ J

E\( 7od—~

AREA MyST BE 20, sO XzO, X £700

DoMA N




(. (£+)) = $0+903) = (35-6[+[38] =3+ 3

7. fuy= $xAH3

3
P P = 4 = 4GS
cube Right Y \/ewhwf 0P 3

-

2 Since 670, we mL x=6 (afo e 3"\‘\(507'7!&“3,01666
o F(6)= ;1((9)+

q émplf\ has V=AXIS §ymMc7Lr"y M

( origya Symmefry =Cdd)

0. The smallest Xx-valve s -0, t1e ldf‘gfﬁX\/alve s 0,
(no €MC\,OOM';3 oA The 5/2%;)% ) so ko‘)omm/) ] s
The 6(/1451//?‘*;% V= Valee & O (wity fle mpL\oA /_,o)

{ +he /af‘gesf = valve ts oo, 90’- _

. N'O €f/\6\p©m+§ WIN be welvded ;. i1 these atswers, nor should
They be (is a sgle pocat ivaam;,,,q7>

(INCREASIN C, DECRLASING, (ONSTANT s A X'WL‘?/‘W/

question.
ner eesig EX( }LXL’(/X7JE
D@(_(\mgmﬂ z)({ fL_XA)_?)

constant § x| ~lex«13



s DomAw: Siace X =1 '+, and the cmallest 1/2%‘52 can be s9,
Pieemi s B9 |
[, 3 cetc)
QANG—GZ/\/OR%thhO;\SM (rlo Y, ¥ -
S© !RAaucye (S (~0c0)

3. Gy = -5 )+3 = 3013 = >3]

3 _ uf K- —hk 44 -6
., Lck-1)= Y (D) -0 -6 = H(Izmgkﬁ\

_ yC-ek 4 k=R s[4k ~13k 4]

5. SMALLEST X ~Vélue s —02, /fo\afg% i oD DGMA-wim,o‘a)]
SMALLEST V-VALUE 5 =3, largest & &, so[AAWEE [-3, D))

|6 DoMA- W= There (sa \I <dad a C‘IGMGM wats~ in This ﬁ!/!c/?an;
' beth can ose pra@/ems
F'U\i’(, (W) : Dejom afor i@ . SOXH% i@ 27/'(:71"8')

Mok Do 5 xttzO = xZ—d

C(\M:( f‘qk? r’-o{' fla)-,q}“ps>

OA 4 lloﬂlbf"‘f‘/t;he, f_ g

F—
2 -y

Since XZ’L’/ %=-% (5 QIMC[?’ exc loded 50 \POMAN
[-4)|

I'7. Anof’kor \V_’ ;Yo m, ;/‘X?;C‘? 7 Xz
_ -7 -}
> XeH  Joom (eo4]
K <N s gmpﬁ A(’)rs _(\’/’Cﬁ foss the tff?/‘%q/

kM [1ae ﬁ-sz‘, so il /'S




M. W hen The /\eb'hon s 1A Powf form, we deed o cliec e gt
QC{C(/\ b4 va/(ze (s leﬁ?/gwét( 01\2)/0"1@ VW/@C)“
The WQPSJF X value v =3 f‘sassa@mfé y=6. The Second X Vale & =7

OHAA (t (s ass&gwe& t/:—%. S +Us )((/‘a/cce, i\s @%ljned ?}’Ua’/bﬁ;
4 so thic felahon i (/_ng,‘ a fuacton)

20. To fFad X*Mfcftepﬁ/%:'fl/“/é)
+C{)= (X—})Q;} = i‘\rrzm =7 K;%,+§(
x=22] =o+,2 so x=3| L?‘;o),(lg
To Hnd \/“("\ffftep’}?/ set & =0
Y= @y = L= H-1=Y e [(03)

2. To get y-axcs Symmehry change Xt =X

SO Instead of (’5}6) we 651‘



